
Q.1 Choose the pair which is closest to the similar in meaning

Ans A. Plaintiff - Defendant

B. Lawsuit - Litigation

C. Judge - Jury

D. Contract – Breach

Question ID : 7018651413

Option 1 ID : 7018655381

Option 2 ID : 7018655382

Option 3 ID : 7018655383

Option 4 ID : 7018655384

Status : Answered

Chosen Option : C

Q.2 Choose the pair closest to the similar in meaning

Ans A. Guilty - Innocent

B. Libelous - Slanderous

C. Prosecutor - Defense

D. Evidence – Testimony

Question ID : 7018651414

Option 1 ID : 7018655385

Option 2 ID : 7018655386

Option 3 ID : 7018655387

Option 4 ID : 7018655388

Status : Marked For Review

Chosen Option : C
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Q.3 Choose the pair, closest to the similar in meaning

Ans A. Conviction - Acquittal

B. Sentence - Pardon

C. Appeal - Trial

D. Mitigating - Extenuating

Question ID : 7018651415

Option 1 ID : 7018655389

Option 2 ID : 7018655390

Option 3 ID : 7018655391

Option 4 ID : 7018655392

Status : Answered

Chosen Option : C

Q.4 Select the pair which is closest to the similar in meaning

Ans A. Damages - Compensation

B. Negligence - Cautious

C. Crime-Wrong

D. Liability – Immunity

Question ID : 7018651416

Option 1 ID : 7018655393

Option 2 ID : 7018655394

Option 3 ID : 7018655395

Option 4 ID : 7018655396

Status : Answered

Chosen Option : C

Q.5 Select the pair closest to the similar in meaning

Ans A. Testament - Will

B. Inheritance - Legacy

C. Beneficiary - Executor

D. Probate – Estate

Question ID : 7018651417

Option 1 ID : 7018655397

Option 2 ID : 7018655398

Option 3 ID : 7018655399

Option 4 ID : 7018655400

Status : Answered

Chosen Option : B



Q.6 Choose the option which can be substituted for given words/sentence:
A person who speaks many languages fluently?

Ans A. Translator

B. Polyglot

C. Grammarian

D. Linguist

Question ID : 7018651418

Option 1 ID : 7018655401

Option 2 ID : 7018655402

Option 3 ID : 7018655403

Option 4 ID : 7018655404

Status : Answered

Chosen Option : B

Q.7 Choose the option which can be substituted for given words/sentence:
A person who deliberately sets fire to property?

Ans A. Vandal

B. Arsonist

C. Saboteur

D. Pyromaniac

Question ID : 7018651419

Option 1 ID : 7018655405

Option 2 ID : 7018655406

Option 3 ID : 7018655407

Option 4 ID : 7018655408

Status : Answered

Chosen Option : B

Q.8 Choose the option which can be substituted for given words/sentence:
The philosophical study of the nature of being, reality, and existence?

Ans A. Epistemology

B. Ontology

C. Metaphysics

D. Hermeneutics

Question ID : 7018651420

Option 1 ID : 7018655409

Option 2 ID : 7018655410

Option 3 ID : 7018655411

Option 4 ID : 7018655412

Status : Answered

Chosen Option : B



Q.9 Choose the option which can be substituted for given words/sentence:
A speech in which a person talks to themselves,often used in drama?

Ans A. Monologue

B. Dialogue

C. Soliloquy

D. Oration

Question ID : 7018651421

Option 1 ID : 7018655413

Option 2 ID : 7018655414

Option 3 ID : 7018655415

Option 4 ID : 7018655416

Status : Answered

Chosen Option : C

Q.10 Choose the option which can be substituted for given words/sentence:
The process by which something, especially a word or phrase, is adapted into a new cultural
or social context?

Ans A. Assimilation

B. Integration

C. Culturalization

D. Naturalization

Question ID : 7018651422

Option 1 ID : 7018655417

Option 2 ID : 7018655418

Option 3 ID : 7018655419

Option 4 ID : 7018655420

Status : Answered

Chosen Option : A

Q.11 Identify that part of the given sentence which is not acceptable in standard written English :
The new employee, who's name is John, is very friendly.

Ans A. The new employee

B. who's name is John

C. is very friendly

D. NO ERROR

Question ID : 7018651423

Option 1 ID : 7018655421

Option 2 ID : 7018655422

Option 3 ID : 7018655423

Option 4 ID : 7018655424

Status : Answered

Chosen Option : B



Q.12 Identify that part of the given sentence which is not acceptable in standard written English :
The new policy will effect all employees starting next month.

Ans A. The new policy will

B. effect

C. all employees

D. starting next month

Question ID : 7018651424

Option 1 ID : 7018655425

Option 2 ID : 7018655426

Option 3 ID : 7018655427

Option 4 ID : 7018655428

Status : Answered

Chosen Option : B

Q.13 Identify that part of the given sentence which is not acceptable in standard written English :
The new employee is very friendly and helpful, but he dont know much about the company.

Ans A. The new employee is

B. very friendly and helpful

C. but he

D. dont know much about

the company

Question ID : 7018651425

Option 1 ID : 7018655429

Option 2 ID : 7018655430

Option 3 ID : 7018655431

Option 4 ID : 7018655432

Status : Answered

Chosen Option : D

Q.14 Identify that part of the given sentence which is not acceptable in standard written English :
The company will hire hundreds of new employees in the next few month.

Ans A. The company will

B. hire

C. hundreds of new

Employees

D. in the next few month

Question ID : 7018651426

Option 1 ID : 7018655433

Option 2 ID : 7018655434

Option 3 ID : 7018655435

Option 4 ID : 7018655436

Status : Answered

Chosen Option : D



Q.15 Identify that part of the given sentence which is not acceptable in standard written English :
I feel so week after running a marathon, but I will be back to my normal self by next day.

Ans A. I feel so week

B. after running a marathon,

C. but I will be back to

D. my normal self by next day

Question ID : 7018651427

Option 1 ID : 7018655437

Option 2 ID : 7018655438

Option 3 ID : 7018655439

Option 4 ID : 7018655440

Status : Answered

Chosen Option : A

Q.16 Choose the option which best expresses the meaning of the Idiom/phrase :
She decided "to bite the bullet" and start her own business despite the risks.

Ans A. Ignore the problem

B. Face a difficult situation bravely

C. Avoid confrontation

D. Chew gum while working

Question ID : 7018651428

Option 1 ID : 7018655441

Option 2 ID : 7018655442

Option 3 ID : 7018655443

Option 4 ID : 7018655444

Status : Answered

Chosen Option : B

Q.17 Choose the option which best expresses the meaning of the Idiom/phrase:
He tried to "throw his weight around" to get the team to follow his orders.

Ans A. Use influence or authority in an overbearing way

B. Carry heavy objects

C. Lose weight through

Exercise

D. Act generously and kindly

Question ID : 7018651429

Option 1 ID : 7018655445

Option 2 ID : 7018655446

Option 3 ID : 7018655447

Option 4 ID : 7018655448

Status : Marked For Review

Chosen Option : A



Q.18 Choose the option which best expresses the meaning of the Idiom/phrase:
The manager’s promises turned out to be a "red herring"

Ans A. A deliberate distraction

from the main issue

B. A symbol of good luck

C. A factual and important

point

D. A type of fish

Question ID : 7018651430

Option 1 ID : 7018655449

Option 2 ID : 7018655450

Option 3 ID : 7018655451

Option 4 ID : 7018655452

Status : Answered

Chosen Option : A

Q.19 Choose the option which best expresses the meaning of the Idiom/phrase:
He was determined to "hit the ground running" on the new project.

Ans A. Start something with

enthusiasm and energy

B. Take a slow and cautious

approach

C. Abandon a project

Midway

D. Avoid hard work

altogether

Question ID : 7018651431

Option 1 ID : 7018655453

Option 2 ID : 7018655454

Option 3 ID : 7018655455

Option 4 ID : 7018655456

Status : Answered

Chosen Option : A

Q.20 Choose the option which best expresses the meaning of the Idiom/phrase:
The plan worked, but it was a "Pyrrhic victory"for the company.

Ans A. A loss disguised as a win

B. A victory achieved at great cost, almost to the point of being a loss.

C. A symbolic and irrelevant

success

D. A flawless and effortless

win

Question ID : 7018651432

Option 1 ID : 7018655457

Option 2 ID : 7018655458

Option 3 ID : 7018655459

Option 4 ID : 7018655460

Status : Answered

Chosen Option : B



Q.21 Fill in the blanks:
The government is determined to put an end to the illegal practices that have been going on
___ the radar and bring the perpetrators to ___.

Ans A. Over, happiness

B. Under, justice

C. On, trial

D. Below, shame

Question ID : 7018651433

Option 1 ID : 7018655461

Option 2 ID : 7018655462

Option 3 ID : 7018655463

Option 4 ID : 7018655464

Status : Answered

Chosen Option : B

Q.22 Fill in the blanks: The witness's statement added ___ to the investigation and ultimately
helped to ___ the mystery surrounding the case.

Ans A. Confusion, deepen

B. Clarity, solve

C. Ambiguity, escalate

D. Evidence, delay

Question ID : 7018651434

Option 1 ID : 7018655465

Option 2 ID : 7018655466

Option 3 ID : 7018655467

Option 4 ID : 7018655468

Status : Answered

Chosen Option : B

Q.23 Fill in the blanks:
When the storm hit, the people took ___ in the shelters and waited for the situation to ___.

Ans A. Charge, intensify

B. Risks, worsen

C. Shelter, calm

D. Refuge, subside

Question ID : 7018651435

Option 1 ID : 7018655469

Option 2 ID : 7018655470

Option 3 ID : 7018655471

Option 4 ID : 7018655472

Status : Answered

Chosen Option : D



Q.24 Fill in the blanks:
The scientist's groundbreaking discovery opened ___ to new possibilities and set ___ for
further research

Ans A. Windows, restrictions

B. Doors, trends

C. Pathways, barriers

D. Valves, rules

Question ID : 7018651436

Option 1 ID : 7018655473

Option 2 ID : 7018655474

Option 3 ID : 7018655475

Option 4 ID : 7018655476

Status : Answered

Chosen Option : B

Q.25 Fill in the blanks:
Despite being criticized, the athlete managed to keep her ___ held high and rose ___ the
occasion in the final match.

Ans A. Head, to

B. Spirits, against

C. Confidence, with

D. Standards, over

Question ID : 7018651437

Option 1 ID : 7018655477

Option 2 ID : 7018655478

Option 3 ID : 7018655479

Option 4 ID : 7018655480

Status : Marked For Review

Chosen Option : A



Q.26 Choose the paragraph which has the most logical order of sentences.

Ans A. The new policy was implemented

to reduce traffic congestion.
The policy restricted traffic in the
city center during peak hours.
The number of accidents
de-escalated after the policy
was implemented.

B. The policy restricted traffic in

the city center during peak
hours.
The new policy was
implemented to reduce
traffic congestion.
The number of accidents
de-escalated after the
policy was implemented.

C. The number of

accidents de-escalated
after the policy was
implemented.
The new policy was
implemented to reduce
traffic congestion.
The policy restricted
traffic in the city center
During peak hours.

D. The new policy was

implemented to reduce
traffic congestion.
The number of accidents
de-escalated after the policy
was implemented.
The policy restricted traffic
in the city center during
peak hours.

Question ID : 7018651438

Option 1 ID : 7018655481

Option 2 ID : 7018655482

Option 3 ID : 7018655483

Option 4 ID : 7018655484

Status : Answered

Chosen Option : A

Q.27 Fill in the blanks: French people love cooking,______________ the English don't seem very
interested.

Ans A.  when

B.  whenever

C. where

D. whereas

Question ID : 7018651439

Option 1 ID : 7018655485

Option 2 ID : 7018655486

Option 3 ID : 7018655487

Option 4 ID : 7018655488

Status : Answered

Chosen Option : D



Q.28 Fill in the blanks: A ___________ is a unit of sound.

Ans A.  syllable

B.  letter

C.  spelling

D. stress

Question ID : 7018651440

Option 1 ID : 7018655489

Option 2 ID : 7018655490

Option 3 ID : 7018655491

Option 4 ID : 7018655492

Status : Answered

Chosen Option : A

Q.29 Fill in the blanks: Select the most appropriate
meaning of the word: TRUCE

Ans A. Skirmish

B. Cessation of hostilities

C. Onslaught

D. Contention

Question ID : 7018651441

Option 1 ID : 7018655493

Option 2 ID : 7018655494

Option 3 ID : 7018655495

Option 4 ID : 7018655496

Status : Answered

Chosen Option : B

Q.30 Fill in the blanks:
At one point, it looked as if an area of agreement would________ specially over the issue of
productivity linked wages.

Ans A. grow

B. create

C. develop

D. emerge

Question ID : 7018651442

Option 1 ID : 7018655497

Option 2 ID : 7018655498

Option 3 ID : 7018655499

Option 4 ID : 7018655500

Status : Answered

Chosen Option : C



Q.31 Select the word with the incorrect spelling.

Ans A. Incriminating

B. Cancellation

C. Unpretensious

D. Embodiment

Question ID : 7018651443

Option 1 ID : 7018655501

Option 2 ID : 7018655502

Option 3 ID : 7018655503

Option 4 ID : 7018655504

Status : Answered

Chosen Option : C

Q.32 Select the word with incorrect spelling.

Ans A. Pedestrain

B. Plaintiff

C. Potatoes

D. Potassium

Question ID : 7018651444

Option 1 ID : 7018655505

Option 2 ID : 7018655506

Option 3 ID : 7018655507

Option 4 ID : 7018655508

Status : Answered

Chosen Option : B

Q.33 Select the word having incorrect spelling.

Ans A. Fabulous

B. Gorgeous

C. Heterogeneous

D. Inocuous

Question ID : 7018651445

Option 1 ID : 7018655509

Option 2 ID : 7018655510

Option 3 ID : 7018655511

Option 4 ID : 7018655512

Status : Answered

Chosen Option : C



Q.34 Choose the correct antonym of word "generosity"

Ans A. altruism

B. general

C. largesse

D. malevolence

Question ID : 7018651446

Option 1 ID : 7018655513

Option 2 ID : 7018655514

Option 3 ID : 7018655515

Option 4 ID : 7018655516

Status : Answered

Chosen Option : D

Q.35 Choose the antonym of word "analogue"

Ans A. correlate

B. cognate

C. dialogue

D. difference

Question ID : 7018651447

Option 1 ID : 7018655517

Option 2 ID : 7018655518

Option 3 ID : 7018655519

Option 4 ID : 7018655520

Status : Answered

Chosen Option : D

Q.36 Choose the antonym of "amusement"

Ans A. mischief

B. naughty

C. melancholy

D. hilarit

Question ID : 7018651448

Option 1 ID : 7018655521

Option 2 ID : 7018655522

Option 3 ID : 7018655523

Option 4 ID : 7018655524

Status : Answered

Chosen Option : C



Q.37 Choose the word which is correctly spelt :

Ans A. Exenerate

B. Exonerate

C. Exanrate

D. Exonarate

Question ID : 7018651449

Option 1 ID : 7018655525

Option 2 ID : 7018655526

Option 3 ID : 7018655527

Option 4 ID : 7018655528

Status : Answered

Chosen Option : B

Q.38 Choose the correct meaning of the Idiom “ to take someone for a ride” :

Ans A. to give a ride to

someone

B. to deceive someone

C. to be indifferent

D. to disclose a secret

Question ID : 7018651450

Option 1 ID : 7018655529

Option 2 ID : 7018655530

Option 3 ID : 7018655531

Option 4 ID : 7018655532

Status : Answered

Chosen Option : B

Q.39 Choose correct meaning of the Idiom “ to move heaven and earth” :

Ans A. to cause an

Earthquake

B. to try everything possible

C. to be indifferent

D. to travel in a rocket

Question ID : 7018651451

Option 1 ID : 7018655533

Option 2 ID : 7018655534

Option 3 ID : 7018655535

Option 4 ID : 7018655536

Status : Answered

Chosen Option : B



Q.40 Give single word for “ One who eats everything”

Ans A. Omnivorous

B. Omniscient

C. Omnipresent

D. Omnipotent

Question ID : 7018651452

Option 1 ID : 7018655537

Option 2 ID : 7018655538

Option 3 ID : 7018655539

Option 4 ID : 7018655540

Status : Answered

Chosen Option : A

Q.41 Choose the alternative which gives best meaning of the word “compensate” :

Ans A. compile

B. make up for

C. result in

D. transparent

Question ID : 7018651453

Option 1 ID : 7018655541

Option 2 ID : 7018655542

Option 3 ID : 7018655543

Option 4 ID : 7018655544

Status : Answered

Chosen Option : B

Q.42 Identify the sentence with correct punctuation:

Ans A. I love eating cake.

B. I love eating, cake.

C. I love, eating cake.

D. I love, eating, cake.

Question ID : 7018651454

Option 1 ID : 7018655545

Option 2 ID : 7018655546

Option 3 ID : 7018655547

Option 4 ID : 7018655548

Status : Answered

Chosen Option : A



Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 43

Q.43 Mohan was in the restaurant yesterday afternoon.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651456

Option 1 ID : 7018655549

Option 2 ID : 7018655550

Option 3 ID : 7018655551

Option 4 ID : 7018655552

Status : Answered

Chosen Option : B

Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 44

Q.44 He goes to work in the restaurant by bus.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651457

Option 1 ID : 7018655553

Option 2 ID : 7018655554

Option 3 ID : 7018655555

Option 4 ID : 7018655556

Status : Answered

Chosen Option : A



Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 45

Q.45 Yesterday, he was in a bus going to the hospital.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651458

Option 1 ID : 7018655557

Option 2 ID : 7018655558

Option 3 ID : 7018655559

Option 4 ID : 7018655560

Status : Answered

Chosen Option : B

Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 46

Q.46 He was in the hospital because of his head.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651459

Option 1 ID : 7018655561

Option 2 ID : 7018655562

Option 3 ID : 7018655563

Option 4 ID : 7018655564

Status : Answered

Chosen Option : B



Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 47

Q.47 He was in the X-ray department of the hospital.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651460

Option 1 ID : 7018655565

Option 2 ID : 7018655566

Option 3 ID : 7018655567

Option 4 ID : 7018655568

Status : Answered

Chosen Option : A

Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 48

Q.48 He was in the hospital until 11 pm.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651461

Option 1 ID : 7018655569

Option 2 ID : 7018655570

Option 3 ID : 7018655571

Option 4 ID : 7018655572

Status : Answered

Chosen Option : B



Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 49

Q.49 The doctors were very worried about him the next morning.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651462

Option 1 ID : 7018655573

Option 2 ID : 7018655574

Option 3 ID : 7018655575

Option 4 ID : 7018655576

Status : Answered

Chosen Option : B

Comprehension:

Read the passage and answer the questions 43 to 50 given below:
Mohan works in a restaurant in the centre of New Delhi. He goes to work at 5pm, but yesterday
at 5pm, he wasn't on the bus, he was in a taxi going to the hospital. He was very sick! Usually,
he works in the kitchen all evening, but yesterday he wasn't in the kitchen. He was in the X-ray
department of the hospital because the doctors were worried about his stomach pains.
Normally, at 11pm, Mohan takes a bus to go home after finishing at the restaurant, but
yesterday at 11pm, he was still in the hospital and he was still unhappy and sick. He was in a
bed and he was very hot - 102 degrees! Was he worried? Yes, he was! In the morning, he was
better and the doctors were pleased. What was the problem? It was bad food - from his
restaurant!

SubQuestion No : 50

Q.50 The problem was food from his restaurant.

Ans A. Yes

B. No

C. Both Yes and No

D. Neither Yes or No

Question ID : 7018651463

Option 1 ID : 7018655577

Option 2 ID : 7018655578

Option 3 ID : 7018655579

Option 4 ID : 7018655580

Status : Answered

Chosen Option : A

Section : General Aptitude



Q.1 What comes next in the series in place of ?- X, T, P, L, ?

Ans A. F

B. H

C. G

D. D

Question ID : 7018651464

Option 1 ID : 7018655581

Option 2 ID : 7018655582

Option 3 ID : 7018655583

Option 4 ID : 7018655584

Status : Answered

Chosen Option : B

Q.2 Statement: "All dogs are animals. Some animals are cats.":
Conclusion1. Some dogs are cats.
Conclusion 2. Some animals are dogs.

Ans A. Only conclusion 1

Follows.

B. Only conclusion 2 follows.

C. Both follow.

D. Neither follows.

Question ID : 7018651465

Option 1 ID : 7018655585

Option 2 ID : 7018655586

Option 3 ID : 7018655587

Option 4 ID : 7018655588

Status : Answered

Chosen Option : B

Q.3 Complete the analogy- Tennis : Racket :: Cricket : ?

Ans A. Bat

B. Ball

C. Wicket

D. Gloves

Question ID : 7018651466

Option 1 ID : 7018655589

Option 2 ID : 7018655590

Option 3 ID : 7018655591

Option 4 ID : 7018655592

Status : Answered

Chosen Option : A



Q.4 Word Formation Puzzle: How many meaningful words can you form from the letters "LEAP"?

Ans A. 1

B. 2

C. 3

D. 4

Question ID : 7018651467

Option 1 ID : 7018655593

Option 2 ID : 7018655594

Option 3 ID : 7018655595

Option 4 ID : 7018655596

Status : Answered

Chosen Option : D

Q.5 A man starts walking 10 meters east, then turns left and walks 5 meters. He then turns left
again and walks 10 meters. He then again turns left and goes 10 metres. In which direction is
he now facing?

Ans A. North

B. West

C. South

D. East

Question ID : 7018651468

Option 1 ID : 7018655597

Option 2 ID : 7018655598

Option 3 ID : 7018655599

Option 4 ID : 7018655600

Status : Answered

Chosen Option : C

Q.6 X says, "Y” is my mother's only daughter." How
Is Y related to X?

Ans A. Sister

B. Mother

C. Aunt

D. Cousin

Question ID : 7018651469

Option 1 ID : 7018655601

Option 2 ID : 7018655602

Option 3 ID : 7018655603

Option 4 ID : 7018655604

Status : Answered

Chosen Option : A



Q.7 In a family of six members, A is married to B. C is B's sister, and D is C's father. F is D's
mother.How is F related to A?

Ans A. Grandmother-in-law

B. Mother-in-law

C. Aunt

D. Mother

Question ID : 7018651470

Option 1 ID : 7018655605

Option 2 ID : 7018655606

Option 3 ID : 7018655607

Option 4 ID : 7018655608

Status : Answered

Chosen Option : A

Q.8 In a certain code, "ROAD" is written as
"URDG." How is "FAST" written in that code?

Ans A. IEXU

B. IBVU

C. IDVW

D. IBXU

Question ID : 7018651471

Option 1 ID : 7018655609

Option 2 ID : 7018655610

Option 3 ID : 7018655611

Option 4 ID : 7018655612

Status : Answered

Chosen Option : C

Q.9 If in a certain language, NATURE is coded as MASUQE,how is FAMINE coded in that language

Ans A. FBMJND

B. FZMHND

C. GANIOE

D. EALIME

Question ID : 7018651472

Option 1 ID : 7018655613

Option 2 ID : 7018655614

Option 3 ID : 7018655615

Option 4 ID : 7018655616

Status : Answered

Chosen Option : D



Q.10 Complete the analogy- Flow:River::Stagnant:?

Ans A. Rain

B. Stream

C. Pool

D. Canal

Question ID : 7018651473

Option 1 ID : 7018655617

Option 2 ID : 7018655618

Option 3 ID : 7018655619

Option 4 ID : 7018655620

Status : Answered

Chosen Option : C

Q.11 How will the word “FLOWER” appear in the mirror

Ans A. REWOLF

B. REWOLR

C. ROLFWE

D. REWOLP

Question ID : 7018651474

Option 1 ID : 7018655621

Option 2 ID : 7018655622

Option 3 ID : 7018655623

Option 4 ID : 7018655624

Status : Answered

Chosen Option : A

Q.12 Complete the analogy- Peacock:India::Bear:?

Ans A. Australia

B. America

C. Russia

D. England

Question ID : 7018651475

Option 1 ID : 7018655625

Option 2 ID : 7018655626

Option 3 ID : 7018655627

Option 4 ID : 7018655628

Status : Answered

Chosen Option : C



Q.13 If the image of the letter “A” is seen in a water reflection, how will it appear?

Ans A. Upside down “A”

B. Backward “A”

C. Completely reversed

“A”

D. No change in “A”

Question ID : 7018651476

Option 1 ID : 7018655629

Option 2 ID : 7018655630

Option 3 ID : 7018655631

Option 4 ID : 7018655632

Status : Answered

Chosen Option : A

Q.14 Circle : Sphere :: Square : ?

Ans A. Rectangle

B. Cube

C. Triangle

D. Hexagon

Question ID : 7018651477

Option 1 ID : 7018655633

Option 2 ID : 7018655634

Option 3 ID : 7018655635

Option 4 ID : 7018655636

Status : Answered

Chosen Option : B

Q.15 A is taller than B but shorter than C. D is shorter than A but taller than B. Who is the tallest?

Ans A. A

B. B

C. C

D. D

Question ID : 7018651478

Option 1 ID : 7018655637

Option 2 ID : 7018655638

Option 3 ID : 7018655639

Option 4 ID : 7018655640

Status : Answered

Chosen Option : C



Q.16 Five friends (A, B, C, D, and E) are sitting in a straight line all facing north. A is sitting to the
immediate right of B. C is sitting to the immediate left of D. E is not sitting at any end. Who is
sitting in the middle?

Ans A. A

B. C

C. D

D. E

Question ID : 7018651479

Option 1 ID : 7018655641

Option 2 ID : 7018655642

Option 3 ID : 7018655643

Option 4 ID : 7018655644

Status : Answered

Chosen Option : D

Q.17 Find the odd one out : Axe, Dagger, Arrow, Knife

Ans A. Axe

B. Dagger

C. Arrow

D. Knife

Question ID : 7018651480

Option 1 ID : 7018655645

Option 2 ID : 7018655646

Option 3 ID : 7018655647

Option 4 ID : 7018655648

Status : Marked For Review

Chosen Option : C

Q.18 Arrange the sentences in a sequence to make a coherent paragraph and choose the proper
sequence from the given option:
A.It has offices at both Bangalore and Mumbai.
B.Out of these, perhaps Goldman Sachs is the most well known in India.
C.Some of the leading ones include Goldman Sachs,Lehman Brothers etc.
D.There are many investment banks.

Ans A. DBCA

B. BCDA

C. DCBA

D. CBDA

Question ID : 7018651481

Option 1 ID : 7018655649

Option 2 ID : 7018655650

Option 3 ID : 7018655651

Option 4 ID : 7018655652

Status : Answered

Chosen Option : C



Q.19 Looking at a portrait of a man, Varun said, "His mother is the wife of my father's son. Brothers
and sisters I have none."At whose portrait was Varun looking at.

Ans A. His nephew

B. His son

C. His cousin

D. His uncle

Question ID : 7018651482

Option 1 ID : 7018655653

Option 2 ID : 7018655654

Option 3 ID : 7018655655

Option 4 ID : 7018655656

Status : Answered

Chosen Option : B

Q.20 Arrange the given words in the sequence in which they
occur in the dictionary- 1. Read 2. Real 3. Ready 4. Rather 5. Ratify

Ans A. 32415

B. 12543

C. 45123

D. 45132

Question ID : 7018651483

Option 1 ID : 7018655657

Option 2 ID : 7018655658

Option 3 ID : 7018655659

Option 4 ID : 7018655660

Status : Answered

Chosen Option : D

Q.21 Marathon is to Race as hibernation is to:

Ans A. winter

B. bear

C. dream

D. sleep

Question ID : 7018651484

Option 1 ID : 7018655661

Option 2 ID : 7018655662

Option 3 ID : 7018655663

Option 4 ID : 7018655664

Status : Marked For Review

Chosen Option : C



Q.22 A dice is rolled, and the top face shows 3.
What number is on the bottom face?

Ans A. 1

B. 2

C. 4

D. 6

Question ID : 7018651485

Option 1 ID : 7018655665

Option 2 ID : 7018655666

Option 3 ID : 7018655667

Option 4 ID : 7018655668

Status : Answered

Chosen Option : C

Q.23 Arrange the given words in the sequence in which they occur in the dictionary. 1. Telephone
2. Teleworker
3. Tendency 4.Temperature 5. Themselves

Ans A. 34521

B. 42153

C. 52314

D. 12435

Question ID : 7018651486

Option 1 ID : 7018655669

Option 2 ID : 7018655670

Option 3 ID : 7018655671

Option 4 ID : 7018655672

Status : Answered

Chosen Option : D

Q.24 Select the odd one out

Ans A. Elephant

B. Cow

C. Lion

D. Hare

Question ID : 7018651487

Option 1 ID : 7018655673

Option 2 ID : 7018655674

Option 3 ID : 7018655675

Option 4 ID : 7018655676

Status : Answered

Chosen Option : D



Q.25 If in a certain language,SPACE is coded as TQBDF, how will PURSE be coded in that code?

Ans A. QTSRF

B. OVQTD

C. QVSTF

D. ESRUP

Question ID : 7018651488

Option 1 ID : 7018655677

Option 2 ID : 7018655678

Option 3 ID : 7018655679

Option 4 ID : 7018655680

Status : Answered

Chosen Option : C

Q.1 What should a government employee do if they are offered a bribe?

Ans A. Accept the bribe but

Report later.

B. Refuse the bribe and report

The incident immediately.

C. Ignore and continue working.

D. Discuss the incident with colleagues first.

Question ID : 7018651489

Option 1 ID : 7018655681

Option 2 ID : 7018655682

Option 3 ID : 7018655683

Option 4 ID : 7018655684

Status : Answered

Chosen Option : B

Q.2 In India,the power to grant citizenship lies with which of the following?

Ans A. President

B. Prime Minister

C. Ministry of Home Affairs

D. State Government

Question ID : 7018651490

Option 1 ID : 7018655685

Option 2 ID : 7018655686

Option 3 ID : 7018655687

Option 4 ID : 7018655688

Status : Answered

Chosen Option : A

Section : General Knowledge



Q.3 India's first solar-powered village is located in which state?

Ans A. Rajasthan

B. Gujarat

C. Madhya Pradesh

D. Kerala

Question ID : 7018651491

Option 1 ID : 7018655689

Option 2 ID : 7018655690

Option 3 ID : 7018655691

Option 4 ID : 7018655692

Status : Answered

Chosen Option : B

Q.4 Which vitamin is also known as Ascorbic Acid?

Ans A. Vitamin A

B. Vitamin C

C. Vitamin D

D. Vitamin K

Question ID : 7018651492

Option 1 ID : 7018655693

Option 2 ID : 7018655694

Option 3 ID : 7018655695

Option 4 ID : 7018655696

Status : Answered

Chosen Option : B

Q.5 The concept of "Minimum Support Price"(MSP) is primarily associated with:

Ans A. Industrial goods

B. Agricultural products

C. Infrastructure projects

D. Urban development

Question ID : 7018651493

Option 1 ID : 7018655697

Option 2 ID : 7018655698

Option 3 ID : 7018655699

Option 4 ID : 7018655700

Status : Answered

Chosen Option : B



Q.6 What is the significance of the "e-Filing" system introduced under the e-Courts project?

Ans A. It allows lawyers to

file cases online

B. It totally eliminates physical

Presence during hearings

C. It restricts access to

case records

D. It replaces judges with

Automated systems

Question ID : 7018651494

Option 1 ID : 7018655701

Option 2 ID : 7018655702

Option 3 ID : 7018655703

Option 4 ID : 7018655704

Status : Answered

Chosen Option : A

Q.7 Which particle has a negative charge?

Ans A. Proton

B. Neutron

C. Electron

D. Positron

Question ID : 7018651495

Option 1 ID : 7018655705

Option 2 ID : 7018655706

Option 3 ID : 7018655707

Option 4 ID : 7018655708

Status : Answered

Chosen Option : C

Q.8 The first woman airline pilot was

Ans A. Hema Devi

B. Babita Savarkar

C. Durga Banerjee

D. Neha Sharma

Question ID : 7018651496

Option 1 ID : 7018655709

Option 2 ID : 7018655710

Option 3 ID : 7018655711

Option 4 ID : 7018655712

Status : Answered

Chosen Option : C



Q.9 The study of sound & sound waves-

Ans A. Mechanical

B. Technical

C. Acoustics

D. Sound Waves

Question ID : 7018651497

Option 1 ID : 7018655713

Option 2 ID : 7018655714

Option 3 ID : 7018655715

Option 4 ID : 7018655716

Status : Answered

Chosen Option : C

Q.10 Wake up India book was written by-

Ans A. Annie Besant

B. Helen Keller

C. Javed Akhtar

D. Lisa Ray

Question ID : 7018651498

Option 1 ID : 7018655717

Option 2 ID : 7018655718

Option 3 ID : 7018655719

Option 4 ID : 7018655720

Status : Answered

Chosen Option : A

Q.11 Which gas is responsible for the blue color of the Earth’s atmosphere?

Ans A. Oxygen and Carbon dioxide

B. Nitrogen (N2) and Oxygen

C. Helium and Lithium

D. Argon and Helium

Question ID : 7018651499

Option 1 ID : 7018655721

Option 2 ID : 7018655722

Option 3 ID : 7018655723

Option 4 ID : 7018655724

Status : Answered

Chosen Option : B



Q.12 Which country is famous for inventing the sandwich?

Ans A. India

B. England

C. Italy

D. United States of America

Question ID : 7018651500

Option 1 ID : 7018655725

Option 2 ID : 7018655726

Option 3 ID : 7018655727

Option 4 ID : 7018655728

Status : Answered

Chosen Option : D

Q.13 Which two countries share the longest International border?

Ans A. India and Pakistan

B. Russia-Kazakhstan

C. Canada and

United States

D. China-Russia

Question ID : 7018651501

Option 1 ID : 7018655729

Option 2 ID : 7018655730

Option 3 ID : 7018655731

Option 4 ID : 7018655732

Status : Answered

Chosen Option : D

Q.14 What is the highest-grossing animated movie of all time?

Ans A. Inside Out 2

B. Frozen II

C. Ne Zha 2

D. The Super Mario Bros

Question ID : 7018651502

Option 1 ID : 7018655733

Option 2 ID : 7018655734

Option 3 ID : 7018655735

Option 4 ID : 7018655736

Status : Answered

Chosen Option : B



Q.15 When do humans use more facial muscles?

Ans A. While smiling

B. While frowning

C. While sleeping

D. While talking

Question ID : 7018651503

Option 1 ID : 7018655737

Option 2 ID : 7018655738

Option 3 ID : 7018655739

Option 4 ID : 7018655740

Status : Answered

Chosen Option : D

Q.16 What is the official currency of Japan?

Ans A. Won

B. Yuan

C. Yen

D. Dollars

Question ID : 7018651504

Option 1 ID : 7018655741

Option 2 ID : 7018655742

Option 3 ID : 7018655743

Option 4 ID : 7018655744

Status : Answered

Chosen Option : B

Q.17 What is the name of the science that studies the past of life on earth?

Ans A. Anthropology

B. Astronomy

C. Palaeontology

D. Geology

Question ID : 7018651505

Option 1 ID : 7018655745

Option 2 ID : 7018655746

Option 3 ID : 7018655747

Option 4 ID : 7018655748

Status : Answered

Chosen Option : A



Q.18 Pollen grains in plants are produced in

Ans A. roots

B. leaves

C. flower

D. stamen

Question ID : 7018651506

Option 1 ID : 7018655749

Option 2 ID : 7018655750

Option 3 ID : 7018655751

Option 4 ID : 7018655752

Status : Answered

Chosen Option : C

Q.19 Amnesty International has its headquarters at-

Ans A. Berlin

B. New York

C. Washington

D. London

Question ID : 7018651507

Option 1 ID : 7018655753

Option 2 ID : 7018655754

Option 3 ID : 7018655755

Option 4 ID : 7018655756

Status : Answered

Chosen Option : B

Q.20 The preamble to our constitution includes all the following except

Ans A. adult franchise

B. equality of status

C. fraternity

D. justice

Question ID : 7018651508

Option 1 ID : 7018655757

Option 2 ID : 7018655758

Option 3 ID : 7018655759

Option 4 ID : 7018655760

Status : Answered

Chosen Option : A



Q.21 Shendurney Wildlife Sanctuary is located in which state?

Ans A. Kerala

B. Tamil Nadu

C. Maharashtra

D. Gujrat

Question ID : 7018651509

Option 1 ID : 7018655761

Option 2 ID : 7018655762

Option 3 ID : 7018655763

Option 4 ID : 7018655764

Status : Answered

Chosen Option : B

Q.22 Which country has the highest life expectancy?

Ans A. China

B. Singapore

C. Hongkong

D. United Kingdom

Question ID : 7018651510

Option 1 ID : 7018655765

Option 2 ID : 7018655766

Option 3 ID : 7018655767

Option 4 ID : 7018655768

Status : Answered

Chosen Option : D

Q.23 What is acrophobia a fear of?

Ans A. Depth of water

B. Heights

C. Darkness

D. Loud noise

Question ID : 7018651511

Option 1 ID : 7018655769

Option 2 ID : 7018655770

Option 3 ID : 7018655771

Option 4 ID : 7018655772

Status : Answered

Chosen Option : B



Q.24 What colors is the flag of the United Nations?

Ans A. Blue and red

B. White and red

C. Red and green

D. Blue and white

Question ID : 7018651512

Option 1 ID : 7018655773

Option 2 ID : 7018655774

Option 3 ID : 7018655775

Option 4 ID : 7018655776

Status : Answered

Chosen Option : D

Q.25 What sporting event has a strict dress code of all-white?

Ans A. The French Open

B. Wimbledon

C. The Australian Open

D. The US Open

Question ID : 7018651513

Option 1 ID : 7018655777

Option 2 ID : 7018655778

Option 3 ID : 7018655779

Option 4 ID : 7018655780

Status : Answered

Chosen Option : C

Q.1 In computer language, “OS” stands for

Ans A. Order of significance

B. Open software

C. Operating System

D. Optical sensor

Question ID : 7018651514

Option 1 ID : 7018655781

Option 2 ID : 7018655782

Option 3 ID : 7018655783

Option 4 ID : 7018655784

Status : Answered

Chosen Option : C

Section : Computer Knowledge Test



Q.2 WINDOWS is a

Ans A. Computer

B. Operating system

C. Virus

D. Memory card

Question ID : 7018651515

Option 1 ID : 7018655785

Option 2 ID : 7018655786

Option 3 ID : 7018655787

Option 4 ID : 7018655788

Status : Answered

Chosen Option : B

Q.3 Video conferencing is conduct of :

Ans A. Video Calls using

Telecom technology

B. telephone calls

C. video conference using

a set Of telescopic
Technology

D. none of the above

Question ID : 7018651516

Option 1 ID : 7018655789

Option 2 ID : 7018655790

Option 3 ID : 7018655791

Option 4 ID : 7018655792

Status : Answered

Chosen Option : A

Q.4 Which of the following produces the best quality graphics reproduction?

Ans A. Laser printer

B. Ink jet printer

C. Plotter

D. Dot matrix printer

Question ID : 7018651517

Option 1 ID : 7018655793

Option 2 ID : 7018655794

Option 3 ID : 7018655795

Option 4 ID : 7018655796

Status : Answered

Chosen Option : C



Q.5 Abacus was the first

Ans A. electronic computer

B. mechanical computer

C. electronic calculator

D. mechanical calculator

Question ID : 7018651518

Option 1 ID : 7018655797

Option 2 ID : 7018655798

Option 3 ID : 7018655799

Option 4 ID : 7018655800

Status : Answered

Chosen Option : D

Q.6 People often call ______ as the brain of computer system

Ans A. Control Unit

B. Arithmetic Logic Unit

C. Central Processing Unit

D. Storage Unit

Question ID : 7018651519

Option 1 ID : 7018655801

Option 2 ID : 7018655802

Option 3 ID : 7018655803

Option 4 ID : 7018655804

Status : Answered

Chosen Option : C

Q.7 Where as a computer mouse moves over the table surface, the trackball is

Ans A. Stationary

B. Difficult to move

C. Dragged

D. Moved in small steps

Question ID : 7018651520

Option 1 ID : 7018655805

Option 2 ID : 7018655806

Option 3 ID : 7018655807

Option 4 ID : 7018655808

Status : Answered

Chosen Option : A



Q.8 Programs such as Mozilla Firefox that serve as navigable windows into the Web are called ___

Ans A. Hypertext

B. Network

C. Internet

D. Web Browsers

Question ID : 7018651521

Option 1 ID : 7018655809

Option 2 ID : 7018655810

Option 3 ID : 7018655811

Option 4 ID : 7018655812

Status : Answered

Chosen Option : D

Q.9 What is the shortcut key of printing a document for computer having windows?

Ans A. Shift + P

B. Ctrl + P

C. Alt + P

D. Ctrl + Alt + P

Question ID : 7018651522

Option 1 ID : 7018655813

Option 2 ID : 7018655814

Option 3 ID : 7018655815

Option 4 ID : 7018655816

Status : Answered

Chosen Option : B

Q.10 An error in Computer is called-

Ans A. Chip

B. Bug

C. Hacking

D. None of the options

Question ID : 7018651523

Option 1 ID : 7018655817

Option 2 ID : 7018655818

Option 3 ID : 7018655819

Option 4 ID : 7018655820

Status : Answered

Chosen Option : B



Q.11 What does URL stand for?

Ans A. Uniform Resource

Locator

B. Uniform Resource Link

C. Universal Resource

Locator

D. Universal Resource

Link

Question ID : 7018651524

Option 1 ID : 7018655821

Option 2 ID : 7018655822

Option 3 ID : 7018655823

Option 4 ID : 7018655824

Status : Marked For Review

Chosen Option : A

Q.12 Which type of software is used to surf the web?

Ans A. Operating system

B. Web browser

C. Database

D. Text editor

Question ID : 7018651525

Option 1 ID : 7018655825

Option 2 ID : 7018655826

Option 3 ID : 7018655827

Option 4 ID : 7018655828

Status : Answered

Chosen Option : B

Q.13 Which key is used to delete the character to the left of the cursor?

Ans A. Enter

B. Backspace

C. Delete

D. Shift

Question ID : 7018651526

Option 1 ID : 7018655829

Option 2 ID : 7018655830

Option 3 ID : 7018655831

Option 4 ID : 7018655832

Status : Answered

Chosen Option : B



Q.14 What does the shortcut Ctrl + C do?

Ans A. Cuts the selected text

B. Copies the selected text

C. Pastes the copied text

D. Saves the document

Question ID : 7018651527

Option 1 ID : 7018655833

Option 2 ID : 7018655834

Option 3 ID : 7018655835

Option 4 ID : 7018655836

Status : Answered

Chosen Option : B

Q.15 What does LAN stand for?

Ans A. Local Access Network

B. Large Area Network

C. Local Area Network

D. Long Area Network

Question ID : 7018651528

Option 1 ID : 7018655837

Option 2 ID : 7018655838

Option 3 ID : 7018655839

Option 4 ID : 7018655840

Status : Answered

Chosen Option : C

Q.16 Which part of the computer is responsible for logical operations?

Ans A. RAM

B. Control Unit

C. ALU

D. Hard Disk

Question ID : 7018651529

Option 1 ID : 7018655841

Option 2 ID : 7018655842

Option 3 ID : 7018655843

Option 4 ID : 7018655844

Status : Answered

Chosen Option : C



Q.17 What does the acronym "IP" in IP Address mean?

Ans A. Internet Protocol

B. Integrated Platform

C. Internal Processing

D. Instant Programming

Question ID : 7018651530

Option 1 ID : 7018655845

Option 2 ID : 7018655846

Option 3 ID : 7018655847

Option 4 ID : 7018655848

Status : Answered

Chosen Option : A

Q.18 Which shortcut is used for undo?

Ans A. Ctrl + X

B. Ctrl + C

C. Ctrl + V

D. Ctrl + Z

Question ID : 7018651531

Option 1 ID : 7018655849

Option 2 ID : 7018655850

Option 3 ID : 7018655851

Option 4 ID : 7018655852

Status : Answered

Chosen Option : D

Q.19 Which shortcut is used to paste the selected text?

Ans A. Ctrl + P

B. Ctrl + J

C. Ctrl + V

D. Ctrl + I

Question ID : 7018651532

Option 1 ID : 7018655853

Option 2 ID : 7018655854

Option 3 ID : 7018655855

Option 4 ID : 7018655856

Status : Answered

Chosen Option : C



Q.20 How can you export a PowerPoint presentation as a PDF?

Ans A. File Tab → Export →
Create PDF

B. Design Tab → Export

C. Animations Tab

→ Export

D. Home Tab → Create

PDF

Question ID : 7018651533

Option 1 ID : 7018655857

Option 2 ID : 7018655858

Option 3 ID : 7018655859

Option 4 ID : 7018655860

Status : Answered

Chosen Option : A

Q.21 Which of the following is a good practice for creating a strong password?

Ans A. Using your name or

Birthdate

B. Using "123456" for

Easy recall

C. Using a mix of

uppercase, Lowercase,
Numbers, and symbols

D. Using the same

Password for all
Accounts

Question ID : 7018651534

Option 1 ID : 7018655861

Option 2 ID : 7018655862

Option 3 ID : 7018655863

Option 4 ID : 7018655864

Status : Answered

Chosen Option : C

Q.22 Which of the following is an example of cybercrime?

Ans A. Hacking into

someone’s Social media
account

B. Writing code for a new

application

C. Hosting an online

Seminar

D. Downloading apps

From verified stores

Question ID : 7018651535

Option 1 ID : 7018655865

Option 2 ID : 7018655866

Option 3 ID : 7018655867

Option 4 ID : 7018655868

Status : Answered

Chosen Option : A



Q.23 Monitor, printer and speakers are

Ans A. Input device

B. Software

C. Output device

D. Hardware

Question ID : 7018651536

Option 1 ID : 7018655869

Option 2 ID : 7018655870

Option 3 ID : 7018655871

Option 4 ID : 7018655872

Status : Answered

Chosen Option : C

Q.24 Which application is commonly used to view
PDFs?

Ans A. Microsoft Word

B. Adobe Acrobat Reader

C. VLC Media Player

D. Google Drive

Question ID : 7018651537

Option 1 ID : 7018655873

Option 2 ID : 7018655874

Option 3 ID : 7018655875

Option 4 ID : 7018655876

Status : Answered

Chosen Option : B

Q.25 Microsoft word is a ________ software?

Ans A. Programming

B. Application

C. System

D. Complier

Question ID : 7018651538

Option 1 ID : 7018655877

Option 2 ID : 7018655878

Option 3 ID : 7018655879

Option 4 ID : 7018655880

Status : Answered

Chosen Option : B


